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merriment
badly
hopeless
penniless

happily
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a). Can you fill in the blanks with “our” or “are”?
our = belonging to us
are = plural verb ‘to be’

1. Giantpandas ___ endangered animals.
2. _ pettortoise is called Speedy.

3. school is called Hove Juniors.

4. Fossils____ often found under rocks.

5. We eating lunch.

6. teachers _ ina meeting.

Can you make up some sentences of your own sentences
using ‘our’ and ‘are’ correctly?

10 x = 80+10 567 - =129

Reasoning

1. At Easter, there are 49 Easter eggs in a box and Tim shares them between
himself and seven other members of the family.
How many Easter eggs will each person get?

2. Look at the bar chart below and answer the questions
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Ruby Jack Ella Omar Peter
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a). How many hours did Ruby, Peter and Omar watched altogether?

b). How many more hours did Peter watched TV than Jack?




